Ratio to CMS

1000/0 2do)/d(m_1 + m_2) [1/GeV]

=
o
N

=
o

=

=
<
[N

=
o
R

0.5

(m_ 1+m_2)/2[GeV]

7000 GeV pp Jets
§ T I T I T I T I T | T I I I T I T | T I T I T I T I§ ﬂ
— . -
— Dijet mass (anti-kT(O.7), 21000<p_<1500, ly|<2.5) 13
= 53
— —Ho
— 1M
B - I
= - 0-B-Em g o
— ol | Lv}“{v’\r y e
- V'm Lr"“”‘\?'*‘-\m,k( e
- = T4 - e
E /l ‘\g\\u\‘ Eg
- /C W
-4 :
_ H —©
— =M
— d<
— m
— o
o
= H —= m
— =
— B CMS - E
| —&— Pythia 8.212 default &
= Pythia 8.212 tune-1 =Es
— Pythia 8.212 tune-2c i -
_— Pythia 8.212 tune-2m =3
= =H 0
— %o
— -
— — (&)
= T B
— -2
- -
B . FEEN fo
RN \\/ 11
| —0.5
N M
0 100 200



	Contents
	Page 1


